1.

RETFASN HE —FHFI=AF o1
KD AABC DlifgERD K. (S50, AK1530%, B2 40, C#Ha)

(1) AB=5cm, BC=4cm

(2) AB=2V2, BC=3
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2.

KD NABC DififizRkd k. (SH14r, A1345%, B30, C#45330%)

(1) AB=9cm, BC=6cm

(2) AB=5V6 BC=5
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REFAL Bl —H0ZAF 01 BE®H

1. XD AABC OHIfEZRD X, (S50, Af1530F, Bfk25408, C#k44r)

(1)

(2)

A

SRR~ R 3

O TEHS A 25K BC IcEMREF] <.

@ ZVHOEHAZHOTES AM 2K 3.
® AABC DHifi%ERD 5.

AB =5cm, BC=4cm

BM=4+2=2

* AABM IZ = FEHOEB AT 5 &
AM =52 —22 = /21

AABC=4x V2T x - =2v21 (em?) —&X

C
AB =22, BC=3
_g3.9_3
BM=3+2=1
* AABM IZ =P OERZ /T 5 &
_ 2 (3)?_ V23
AM=y/(@v9)' - (5) =5
. AABC —3x V23 o 1 _ 3vV23 s
2 2 4

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2.

KD NABC DififizRkd k. (SH14r, A1345%, B30, C#45330%)

(1)

(2)

AB =9cm, BC =6cm

AB=5V6, BC=5

BM=6+2=3

* AABM IZ =¥ HOEM AT 5 &
AM =92 =32 = 61/2

AABC=6x6v2x - =18V2 (em?) -&X

_r.9_ 0

BM=5+2=

* AABM IZZEHF0OEM A2 EAT 5 &
2 5\2  5v23

ai= V) - (3) = 22

AABC—5x DV23 1 _ 25V23 mcs

1
2 2 4
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